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CAPF (Ac) Exam, 2013

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

T.B.C. : B-BZOE-M-FZH Test Booklet Series

TEST BOOKLET

GENERAL ABILITY AND INTELLIGENCE
Time Allowed : Two Hours Mazimum Marks : 250

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll
Number and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Shect. Any omission/
discrepancy will render the Answer Sheet liable for rejection,

3. You have to enter your Roli Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

4. This Test Booklet contains 125 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,

(ij There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii} If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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A circle is drawn inside a square
of length 4 units as shown in the
figure given above. What is the area
of the shaded portion?

faj 16-4n (b) 16-m

fcs 4-n {d} 4-2n

2. If the ratio of X to Y is §- and the

ratio of Y to Z is %, then the ratio

of X to Zis
13 1
fadied b =
{a) 3 {b) 3
4 9
—_ dl =
fc} 13 (d} 3

3. The sum of the base and altitude of
a triangle is 30 cm. What is the
maximum possible area of such a

triangle?

fa) 100 cm?
(b} 110 cm?
fc) 1125 cm?
(d) 120 cm?

4. If 9 mangoes cost as much as
5 oranges, 5 oranges as much as
3 apples, 4 apples as much as
9 pineapples and if 3 pineapples
cost ¥ 48, what will a mango cost?

(a) €9
(b €12
¢ €18
(@ €27
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In the diagram (not to scale) given
above, the value of x is

faj 51

360
® =

6

4
{d) 49;

6. A campus poll covering 300 under-
graduate students was conducted
in order to study the students’
attitude towards a proposed
change in the rules for hostel
accommodation. The students were
required to respond as ‘support’,
‘neutral’ or ‘oppose’ with regard to
the issue. The poll outcome was
presented as a pie chart as given
below

support

oppose

96° ‘\ 144°

The numbers for ‘support’, ‘neutral’
and ‘oppose’ are respectively

(@) 150, 90, 60
(b} 120, 100, 80
{c) 80, 100, 120
{d) 60, 90, 150
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1. e 4 —) 5. A
\T =
4 L]
W A3y 2y°
B o
4s$r€awréﬁaﬁ%wqaﬁq3 IR fiv T amE (YuR & srgEn ) #
Yoifea & @ 5w Ry T R xR
Tl e 2| BIRE am % SF%a w27 (@) 51
(@ 16-4n ) 16-n m 2
fc) 4-nm (d) 4-2n ) 6
(c) 62
2.uf&x¢r¥@fa3qm§%aﬂtvwzf{
4 4
(d) 49-7-

agm%%,a}xwzﬁugqm%

@ 13 w1 6. IEEE & EHw Tamt # gwafaa
3 3 AR & wa o Aiehy & eEa g
0 X @ — 300 FEETE DE W TH IRE RO
13 13 U T e 4 e @t vl feo s
3. Frdl B % wmaw oh e @ @ fm & wew R e, e W
30 cm 2| %@ fnm @1 aftman @ Fee’ & = # srell s = w
Sver 7 &7 HagA F1 ufom TF guRE & 9 § A=
ORI I
@) 100 cm?
(b) 110 cm?
¢/} 112:5 cm? e e
(d) 120 cm? 96°(\_)144°
4. afk 9 amt it wrE Sa § Rred 5w
#, 5 T A G I 2 R
3 Qal A, 4 &t ) o Iah & R
9 I 1 3k AR 3 arwEE A T i, ‘qew’ o faes’ & for wEd
T 48 &, 9 T 31w h @ w411 A7 &, sm:
@ 9 ' (@) 150, 90, 60
(B ® 12 - (b} 120, 100, 80
) ¥ 18 . {c) 80, 100, 120
(dj €27 | (d) 60, 90, 150
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7. The

Famlily A

following tables show the
expenditure (in percentage) of two
families A and B :

Family B

20%| Miscellaneous

20%| Entertainment

30%| Entertainment

50%} Food

70%| Miscellancous

10%| Food

(Monthly income
¥ 20,000)

(Monthly income
¥ 1,00,000)

Which one among the following
statements is true?

{a) Family A spends as much on
miscellaneous as family B
spends on entertainment

(b) The food expense of family B
is equal to the total expense
of family A

fc) Families A and B spend equally
on foed

fd} Families A and Bspend equally
on entertainment

8. Which one among the following

diagrams illustrates relationship
among animals, cows and horses?

@O O O
rb)

“©0
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9. Through how many degrees does the

10.

hour hand in a clock move as the
time changes from 3 hours and
12 minutes to 6 hours?

{a) 105
(b) 99
f¢) 90
(d) 84

As shown in the above diagram, a
person starts from the centre O of
a circular path AB, walks along the
line indicated by arrows and
returns to the same point. If the
radius OA = OB = 100 metres, what
is the total distance walked to the
nearest metres?

(@) 703
() 723
(c) T43
(d) 823

11. If 5 persons can weave 160 mats

www.nationaldefenceinstitute.in

in 8 days, how many mats will
8 persons weave in 6 days?

{a) 200
(b) 192
(c) 190
(d) 180

www.nationaldefenceinstitute.in
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7. Prfafed anfigi @t ofemt A sk B & 9 rftwdi A 3o 12 e @ 6 o9 T
: o (wfawm ) gwid 2 _ ' Y wee 0 uwe i gE feen e et
| 37
TREr A ofam B
20%, | wehif 20%| FAA fa) 105
30% | TR {b) 99
70%]| T {c} S0
S0%| {d} 84
10%] @™
ide ama : GULEE S
¥ 20,000) ¥ 1,00,000) 10.

frafafas wual # | F9-9 @ 7 ¥

fa) TFER A Yol T Iq @ w2,
frem fER B A W @ &

2
(b) WRER B % W @9, M@K A & & =ith T IO 99 AB % 5 O ¥
FT T % T TE SO Fa &, 0 g Felfa e
T A S ThER R Iad gu o g m o an s &
R B S i S Ry o o A T A
_ ok B oA =0B=100 W= B, @
(d} TER A 3 wfErR B FANEA W sl 7 o gt Frepeam et § fah 27
OGS H &
~ (@ 703
8. fi=ifrg s@t # & =R-w ™ wHad, (b) 723
T i wEl & i wey & w0 fc) 743
w87 @ 823

MO O O 11.uﬁ5wﬁ5160azsﬁafr8ﬁﬁﬁ§j
o) g?%,?ﬁswﬁﬁsﬁﬂﬁww

{a} 200
@ 09
(b) 192
(c) 190
d
@ © O
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12. Two cars are moving in the same

direction with a speed of 45 km/hr
and a distance of 10 km separates
them. If a car coming from the
opposite direction meets these two
cars at an interval of 6 minutes,
its speed would be

(a) 45 km/hr
(b) 55 km/hr
() 65 km/hr
(d) 75 km/hr

13. Which one among the following

14,

www.nationaldefenceinstitute.in

figures will come next in the series
given below?

. + e + o
o + o L
(a) < + (b) +
. + O )
@ @ °
F
A E
B
C|D
®)

Which one among the following
boxes is similar to the box formed
from the given sheet of paper (X)?

B e
(c) % (@) %
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15. In a class, 40 students passed in

Mathematics, 50% of the students
passed in English, 5% of the
students failed in Mathematics and
English, and 25% of the students
passed in both the subjects, What
is the ratio of the number of
students who passed in English to
that in Mathematics?

(@ 1:1
() 2:3
() 5:7
{d) 10:9

16, The least integer whose multipli-

cation with 588 leads to a perfect
square is

(@) 2
(b) 3
fc) 4
d 7

17. The fifth term of the alphabet series

BCYX, EFVU, HISR, KLPO, _?_
is
fa) NOML
(b} NOLM
{c/ ONML
{d} ONLM

18. By selling an article at ¥ 270, 8 man

loses 10%. If he would sell it at
¥ 360, his gain percent is

{aj 10.
(b) 15
{c) 20
(d 25
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12. 2 w1 wk @ R it 45 km/hr F I

¥ W ? e 10 km # gt
TH-IW R/ gUF W 3 AR T W
factia ffm @ smM @ W A FW A
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15. f5d wen @ 40 ow @ & Il g,

50% o ek # vl gr, 5% 3™
T R S & sl gw sk 25%
o3 a1 foet & wwfivl gu) oish § Sefiod
Et fi g w afta § sl et #i

ek i wem § T S §7
{a} 45 lom/hr @) 1:1

(o) 55 km/hr b) 2:3

(c) 65 km/hr c 5:7

{d) 75 km/hr (d 10:9

13. feifea fEt & @ ¥9-w & = Ry 7w ls_agaww’sﬁsggﬁwa;ﬁq(

uft # epren Fm? R
R @2
(b) 3
@ |, N () 4
' d) 7
CH @ .
17. Fafirfige aofmen Aoft @ dfeat we Fn
14. R o
| BCYX, EFVU, HISR, KLPO, ?_
AlE (@) NOML
B (b) NOLM
c|p () ONML
%) (d) ONLM

frrifea fesdt & & #-w = Re g
N F T (X) g0 A T & wEm

‘ am? |
fa) 10

(@) %‘ ; b)
| b) 15

E>
2
e % ) Qoﬂ 9 20

(d) 25

©.18. uE s 1 awg €270 F AT R, DA
10% F g1 At 81 Rk @ ¥ 360 &
_ﬂ%,a‘fmﬁamwuﬁmw@m?
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19. In a certain code, ‘PLANT’ is written 23. The three primary soil micro-
as ‘$@2*© and YIELD’ is written nutrients are
as P64@%’. How is ‘DELAY’ written
in that code?

(a) P4*2% (b) B4@2%
fc} %42@3 (d) %4@2p

fa) carbon, oxygen and water
(b} copper, cadmium and carbon

{c) nitrogen, phosphorus and

20. IfAiscodedas 1, Bas 3, Cas 5 and potassium-
so on, which of the following is
the numerical value of the word {d) boron, zinc and magnesium

FAZED’ if the numerical value of
‘CABLE’ is 417

(a) 81 () 80 24. Diamond Ring, God’s Eye and Baily’s

) 79 . {d 77 Beads are the parts of which
one among the following natural
phenomena?

21. Natural gas is a mixture of gases and

contains mainly {a) Solar eclipse

(aj methane and higher hydro-

carbons {b) Aurora
(b} butane and isobutene
" {¢) methane only () Lightning
(d) methatlle, hydrogen and carbon {d) Solar storm
monoxide

22, Diamond is a polymorph of graphite.
Both contain carbon atoms, but 25. ‘Turing machine’ serves as
they have extremely different
properties because of the condition
in which they are formed. Diamond
is obtained after applying

fa) a machine to identify explosives

(b} an indicator to inform about

fa) very high pressure and low forest fire
temperature . _

(b) very low pressure and high {c) an instrument for finding out
temperature gravitational constant

(¢) very low pressure and low

temperature fd) a .theorencal compi..lting
machine to act as an ideal
{d) very high pressure and high model for mathematical
temperature calculation
B-BZOE-M-FZH/10A 8
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. G fafiE 32 § PLANT' &t $@2*C" ¥

w1 8 form mn @ e YIELD &t
B64@% F ¥ & /@1 ™ ¥ DELAY’

= 3 gz # e vy A fovan smom?
(o} P4*2% b) PA@2%
(c) %42@P (d) %+@28

IR AFEER 1 F WA, BRIE 8 3

& wqH, C 1eoE ® 5 F ¥ W ot
TR Q, @ FAZED' W #1 TEARHS
T fefafes & @ = w3l
‘CABLE’ %I G&HIeHS HIF 41 87

@ 81 (b} 80

(¢} 79 (@ 77

. il T, A6 @ Rem da R, R
e van/E 2/E

() HOA 3 I=H FEIHER

(b) H I AEEHA

{c) EEGRT

(d) A, TR R FEA HA-
' e

. €U, IRgE H UF qgEH 2| Tely IE A

& WA g €, g I Fmin f
Wl & T, T ot § v freemd
21 wife

@ S T ol B
e Bt &

b) R T ok I AW wR ¥

CICR Gl ‘
() afy P o o e aw o &
e et ]

(dj ¥y 3= T ’R W W T FH
e oA B -
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23. e & diF W q59 U &

(a) A, iFfe 3R 51
(b) T, FghEw R F
{c) xrsaaqmaﬁzqﬁﬁm

(d) =9, o o Afifiem

24. mam,émﬁaﬁ@aﬁtﬁ%m%,

Frafefen weles wemet # @ fow
% foe €7

(@) TTEm
(b) gefra wafd
0

(d} Hﬁ(‘aﬁtﬁ.

25. ‘ij’c'nmﬁq’ﬁmmﬁmm%?

| (@) Frevesl f veER QA w 9

(b) TEMR % fawg & Serd 3 AW

B

(o) et O T F O

(d) & dgf<e ufmwew 97, St it
ofterer & foTq T aTed TR & &9
w1 =

[P.T.O.
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26. Leaves of lotus and water lily are not
easily wet because the leaves

fa) have surface uneven in micro-

(b)
(c)
{d)

scale and water cannot come
into contact with the depressed
areas due to high surface
tension

contain an oily substance
contain a greasy substance

have surface too smooth to
attract water

27. Arsenic present in groundwater can
be partially removed

(a)

(b)

()
(d

along with removal of iron
by  precipitation/coagulation
method if iron is also present
in the water

on boiling even if iron is absent
in the water

on UV-treatment

on filtration even if iron is
absent in the water

28. Transformer is used to

1.

convert low a.c. voltage to high
voltage

convert high a.c. voltage to low
voltage

convert direct current to
alternating current

regulate the fluctuation of

voltage

B-BZOE-M-FZH/10A
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Select the correct answer using the
code given below.

(a)

{b)

fc)

{d)

29, The

1 and 3 only
3 and 4
1 and 2 only

1, 2 and 3

filament of electric bulb is

generally made of tungsten because

(@)

()

{c)

(d)

tungsten is cheap

durability of tungsten is high

light-emitting
tungsten is high

power of

melting point of tungsten is
high

30. Electricity meter may be a/an

(a) .

(b}

(c)

(d)

www.nationaldefenceinstitute.in

mainframe computer
microcomputer
hybrid computer

analog computer
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26, FAA N FA-FARA hit ot FEE @

™ T B &, Fl

{a) Uit #t was g5 R w® I
Bt & ot 31 g8 @E-F TR @
TSI 81 % qRah | TE o7 W
2

(b) wiRmt 4w Aol v & &
() e & v faé-gw e g §

(d) o e it fae At R 1%
S R ATHET AT F HHal

27. ¥ s § femm sl = e w

¥ frsfea fem s e @

o) ¥E&/wh=A fafr & Ak ®
forem ¥ mw-gw, Ak d@w of
e % feme 3

(b)- IR, W B g @ 7 staem
Gl

(¢) UV-3I9ER g

d e g, W @ | s R
SRR @

28. SfonfiE %1 3 AT 8

1. M ac. divea w 3= dew |
fafda =0 & foro

2, IR a.c. dwed = = Qe #
TRafia = & R

3. Ry gy < yead! g # qRafda
#H % forg

4, dwed ¥ R-UgE @ e 59

% forq
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R R M H2 H WM W T IN
gy

(a) FaA 1 3R 3
(b) 334
(c) Fa= 132

{d 1,23Mm3

29, I7A Tod W A TEITN TR F A

A &, il

fa) T EET R

(b) Ta W el = &

(c) TR FX THE IoHSIw GHAT I B

(d) TR H A I 8

30. Torga-wrdt | w2

(o) T ATHH FIK
(b) Th &R FrAR
(c) UH G FYX

(d) TH T HFE

[P.T.O.
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31. Advanced sunrise and delayed sun-
set found in the sky are due to the
phenomenon of

(a} diffraction of sunlight

(b} refraction of sunlight

(¢} scattering of sunlight

(d) total internal reflection of sun-
light

32. The formation of colours in soap
bubbles is due to the phenomenon
of

(a) dispersion of light

(b} interference of light

(c) diffraction of light

(d} polarization of light

33. Geostationary satellite completes its
one revolution around the earth in

{a} 90 minutes
{b} 24 hours
{c; 30 days

(d) 365 days

B-BZOE-M-FZH/10A
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34. What is the correct sequence of
conductivity when arranged in
ascending order?

{a) Metals, semiconductors,
insulators

fb) Insulators, metals, semi-
conductors

fc) Semiconductors, metals,
insulators

(d) Insulators, semiconductors,
metals

35. Which one among the following
statements about ‘modem’ is
correct?

fa) Modem is a software

{b) Modem helps in stabilizing the
voltage

(¢! Modem is an operating system

(d) Modem converts the analog
signal into digital signal and
vice versa

36. Which one among the following is
not a form of carbon?

fa) Graphene
fb) Graphite
fc) Fullerene

{d) Quartz

www.nationaldefenceinstitute.in
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31. e # BRI ofiw i v Rawfea 34, S FH T FERE T T TEEHN
gt Frefafa & @ fhg o & @ waY T T 87
B &7
(a) g, rdee, fagg-ad
(o) - w faadA
(b) TrE-AR, ug, s
(b) TR-ST N TG
(c) Ad=E®, urg, faga-d

i st
(0 T @) -, e, g

(d) T-whm w1 Pl Tt wWEdA

35. ‘wiegn’ ¥ fma # Prafofas o 4 @

‘ P-4 TF Hed 27
32. Wigd & gagal 4 o w1 g Al
% & frw gz & v da 27 (a) W T W
(@) ST T TREIT (b) TRW Feem B W TR F wEEa
a1 8
(b) T T SAfRT
(c) WIEH T YETEA WOl B
fc) TEW 1 A
(d) WISH FATET Thd H FE HHa F
(d) S F g i 3ih Wha i ATEW Fhd F

E GG

33, gouiell U T % AW MR W oo § @ dw w6 W Ow

& O T A T F &7 i 27
fa) 90 fir (@) e
(b) 24 wwe (b) wTEE
@ 30Fa (c) T
(d) 365 f= (d) RS
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37. Plants capable of performing photo-
synthesis belong to which one
among the following types of
organisms?

{a) Heterotrophs
{b) Saprotrophs
(c) Autotrophs

(d} Chemoheterotrophs

38. With reference to India, which of
the following statements relating to
urbanization is/are correct?

1. It is a manifestation of
economic, social and political
progress.

2. Rapid growth of urban
population puts pressure on
public utilities.

3. Urban sprout is encroaching
the precious agricultural land.

Select the correct answer using the
code given below.

{a} 1 and 2 only
{b) 2 only
fcj 1 and 3 only

(dj 1,2 and 3

'B-BZOE-M-FZH/10A
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39. Which of the following statements .
regarding landslides is/are correct?

1. They are sudden and sporadic.

2. They result when the slope is
gentle.

3. Mining activity is also
responsible for landslides.

Select the correct answer using the

code given below.

fa) 1 and 2 only
{b) 1 and 3 only
{c 3 only

(dl 1,2 and 3

40. Which of the following statements
related to globalization is/are
correct?

1. It has resulted in the change of
scale in economic activities.

2. End of Cold War f{acilitated
globalization.

3. Flow of money in transnational
corporations is discouraged,

Select the correct answer using the
code given below,

(@) 1 and 2 only
(b} 1 only
fc) 2 and 3 only

fd 1,2 and 3
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. 37. voW-Ovese fenfd R B guar A
ey fFr=fefaa 4 @ foe & fa-yer &
=il 3 &7

(a) TG (20T)

(b) hiw

) wafia ()

(d) FORETE

38, WA & @y #, FEW F =y §

fafafa & @ S9-w/8 o= ad 8/87

1. %2 onfds, gmifem o teiifos
Ity S TR 2

2. TR s § da gfe seteh
TRt W e srerdt 2|

3. TlE IFW grER FH W

Stfarsrmor = @ 2|

= fu R W oW W ol sw
gl

(@) Fa@ 1 3R 2

(b) HaA 2

fc) *Haa 13k 3

(dj 1,233
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39. yxEer ¥ o § PR wet § @

B-T1/Q T B/ET

1. 2 srfehs wo el g §)

2. A8 T W e IS gl R

3. @\ B oot yween & R

IEE 2|

e Rt M F2 W WM W gd Iw
gfuy

fa) 9w 1 ¥R 2
(b} FF@ 13N 3
c) Fad1 3

[d) 1, 23R 3

40. ST 3 TR Rt e
A P-W/R wE 2/RY

1.

To% qRumEaEy anfE et
% 4O = MY §)

M g5 % T I sEugeiwmr S
R T B

Tgarta it d qx1-vane s
S '

TR Ry gz = W W oEd W
kM

fa) Faw 1 3R 2
() F4 1

() Faa 23R 3

(d 1,23Mm3
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41. The continent having the largest area
in the equatorial belt is

(a} Asia

(b)

(c)

(d)

South America

Africa

North America

42. Which of the following statements
are correct?

1.

Sediments of Gondwana
System were deposited under
marine condition.

Rocks of Gondwana System
are fossiliferous,

Rocks of Gondwana System

contain metallic mineral
deposits.
Gondwana deposition took

place in downfaulted trough.

Select the correct answer using the
code given below.

{a)

(b)

()

(d)

1, 2 and 3

1, 2 and 4

2 and 4 only

1 and 3 only

B-BZOE-M-FZH/10A
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43. Which one among the following
statements is not correct?

{a)

(b}

(c)

(@)

Shillong Plateau is an outlier of
Peninsular Plateau of India

Aravalli Mountain is the oldest
mountain chain of India

Vindhyans are exarnples of fold
mountain

Rajmahal Highlands are
composed of lava deposits

44. Which one among the following
systems contains the oldest rock
formation of India?

{a)
(b}
(c}

(d)

Aravalli System
Archean System
Cuddapah System

Vindhyan System

45. Which one among the following is
not correct regarding the black
soils of Peninsular India?

(a}
{b}
{c)

(d)

www.nationaldefenceinstitute.in

Rich in iron, lime and potash
Retentive in moisture

Fertile and well-suited for
growing sugarcane

Rich in phosphorus and
organic matter
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41, faysfla wRwy d geom Swa @
TR 3

(a)
(b) afeft smifem
{c) ITHIT

(d) Il i

42, fefefm sl A fv-d wdt §7

1. Team a9 % EdR 99 s od
fafa gu &

2, Tigam 93 % 9 s §)

3. Tigamn @9 & et § wifes @l
fagq 3 &

4. Tieamn FEw syt 2t § @
2

2 fer T F2 oW WM Wl W
gl

{@ 1,2 3M3
(b) 1,234
(c) TSR 2 3 4

{d) Faa 1 3R 3

B-BZOE-M-FZH/10A

17

43, Fafafaa =@ § @ F9-11 = @ T
44

fa) T @R IRE F TEFTHE TSR A
RSB

(b) IE Ydd R H wehTam v
el &
fc) fomeae et vda & I2E 8

(d) TwEe S=v A frgdt @ gafa
g

a4, fafofm @1 4} e & & wma w
Wi SeeE 87

(@) Ed! aF
(b) NEFR &
(c) & A
(d) ferom =
45, yAEH wRa B FE gadt F AR F
frefafea # @ FA-w ww @ 7@ 27
(@) R, TN W@ G @ GG
(b) T % wfq uronEfla
(c) IaTH W 7T IeATEA H IUYH

fd) wERrE 3R Afew oa @ wug

[P.T.O.

www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in




www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in

46. Which one among the following 48. Which of the following pairs are
places in India is nearest to the correctly matched?
Tropic of Cancer? 1. Tdukki : Thermal Power
Station
fa) Aizawl 2. Sabarigiri : Hydroelectric
Project
(b) Rajkot 3. Ghatprabha : Irrigation Project
Ramganga : Multipurpose
(c) Kolkata Project
(d) Imphal Select the correct answer using the
code given below.
fa) 2, 3 and 4
47. Match List-I with List—!l and select () 1,2 and 4
the correct answer using the code
given below the Lists : {¢) 3 and 4 only
List-I List-II (d) 2 and 3 only
{River} (City)
A. Spree 1. Boan 49, Which one among the following
. States shares common boundaries
B. Rhine 2. Hamburg with maximum number of other
C. Seine 3. Paris States?
D. Elbe -4, Berlin faj Madhya Pradesh

fb) West Bengal
Code : ¢/ Chhattisgarh
| {d) Andhra Pradesh -

(@l A B C D
4 3 1 2 50. The State of Sikkim is surrounded by
{fe) China, Nepal, Bhutan and
(b} A B C D West Bengal
4 1 3 2

(b} Bhutan, Nepal, West Bengal

© A B c D and Assam
C, L

2 1 3 4 {c) China, Nepal, West Bengal and
Assam
(d A B D (d} China, Bhutan, West Bengal
2 3 1 4 and Assam
B-BZOE-M-FZH/10A 18
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46. wra ¥ fnafiflas @Al 7 @ aF-wm @
Fehtdl § Fiehean 27

o) 3AgSA
(b) TER
fc) TPTEAHTI

(d) THE

47. g1 B g1 ¥ gt fif aiv

gt & 9 o T 2 w1 AW W el
3L ElﬁQ :
1 gen
(7H) (W)
A wft 1. 9H
B. U 2. fa
C. 9=A 3. Ufm
D. ©E 4, afelq
)e
@@ A B C D
4 3 1 2
) A B C D
4 1 3 2
(g A~ B C D
2 1 3 4
d A B C D
2 3 1 4
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48. fimfafigs 7t § & #9-8 wd gatera €7

1. @ Fefl ke 9
2. wifift . Sty s
3. g T aRasm
4. TETM :ag—'ﬁ!ﬁﬂwﬁeﬂw

= v Mo W oW W E IW
gl '

() 2,534“114
M) 1,234
c) Fad 3 3 4
(d) Fae 2 3R 3

49, fieafaflen et & @ T & i diad
g Tl Y afteran g@n F Ay |nht
g

(o) T W2
(b) W "
(c) StTE
(d} 3Ty TN

50. fufew vsy f=fafiega 9 @ e forn gon
&7 '

(@) <, 30, ER i ofim Sma
(b e, Jure, afEm sE SR sww
(cj <R, Ju, qfm I o sww

(d) =, ¥, oftm Ser ot aran
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S51. Khumbum monastery is situated in Code :
. fa} A B C D
{a) India 4 5 3 )
(b} Thailand fbj A B C D
1 3 2 4
{¢) China . {c) A B C D
4 3 2 1
d) Japan -
@) P (d) A B C D
1 2 3 4
§2. The place located at the confluence 54. Which one among the following
of Alakananda and Pindar rivers is ocean currents mixes with Labrador
current?
{a) Rudraprayag {a) Canaries current

bl B
{b) Karnaprayag (b) Benguela current

{¢) Florida current

(c} Devaprayag (d) California current

(d) Vishnuprayag 55. The Wallace’s Line distinguishes or

separates the flora and fauna

between
53. Match List-1 with List-II and select fa) Canada and USA
the correct answer using the code (b) Taiga region and Tundra region

given below the Lists :
(c) Mexico and Central America

(d) South-East Asia and

List-T List-1I Australasia
(Continent) {Desert)
5$6. Which one among the following is
A. Asia 1. Atacarna the major occupation in equatorial
region?
B. Africa 2. Mojave (a) Growing of tropical crops
C. North America 3. Kalahari (b) Growing of cereals
{c) Growing of citrus fruits
D. South America 4. Gobi (d) Animal rearing

B-BZOE-M-~-FZH/10A 20
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51. ‘gran’ wa Frafoafae § 4 =8t st 87

CN

{aj Wtd
(b} AEATS
c) =

(d) T

52. s@FA=l ok fvew ARE ¥ @W W

ffefian # @ wF-w e safedm 27
(@) TETIVT
(b) HuisEm
{c') 2qTam
(aj e

53, -1 N -1 ¥ gafm Hivm
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et & = Ry 7T g2 w1 W == oad
mgﬁq:
-1 TqA-11
(werdia) (ETere)
A. wfwEn 1. 3
B. 3fi 2. Aem

C. gt @i 3. wEEd
D. zfiwfi epdfer 4. W&
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E T

@ A B € D
4 2 3 1

) A B C D
1 3 2 4

6 A B C D
4 3 2 1

d A B C D
1 2 3 4

54, Fefafaa 4 4 =-dt w6 9gEIR uIn

SSER U A frerdt 27
(a) AT U7

(b) e um

(c) e um

{d) FHfawifFa um

85. gm-tm ffiaflgs d @ s &

FrEfesm 3t Mivena & geE a1 gug
Eacil

{a) FATET 3R HYH T ST
{b) & wRW 3k Ty ww
() AT iR e mfEm
(d) 2feor-gd ofimn ik et

s6. Ffafen & & sF-w1 = fgda ww

1 YgE =awd 87

(o) vl woel H I
(b) € I

fc) Trzm wat B I

(d) g
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57. Mahatma Gandhi’s opposition to 60. Which one among the following
inscriptions was installed in the
easternmost part of Ashoka’s
territory?

separate electorates for untouch-
ables was because

{a) separate electorates would
ensure them bondage in
perpetuity

(b) of the apprehension of
offending the conservative high
caste Hindus

{c) it would weaken Mahatma
Gandhi’s position as a leader

{d) None of the above

58. Various causes have been suggested
for the decline of Harappan culture.
Consider the causes mentioned
below and identify the weakest of
them.

{a) Due to constant incidents of
naturally occurring floods

(a)

(b)

()

(d)

Barabar hill cave inscription

Dhauli major rock edicts

Sahasram minor rock edicts

Lauriya Araraj pillar edicts

(b} Due to increase in the salinity - 61. The prevalence of grain in Harappan
sites indicated that

of the soil, fertility decreased
there

(¢) Earthquakes caused changes
in the course of the Indus,
i which led to inundation

{d) The Aryans invaded and
destroyed the Harappan
culture

§9. Who among the following is
the author of ‘Ashtadhyayi’, the
Sanskrit grammar?

fa) Patanjali
(b) Panini

{c) Kalidasa

{d) Banabhatta

B-BZOE-M-FZH/10A 22
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(a)

(b)

(c)

(cl)

Harappans ploughed their
fields

Harappans broadcast seed on
their fields

agriculture was prevalent in
Harappan sites

trade in bulk items like food
grains was well-established in
Harappan times
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57. 3@ & fou gy fatss-wea @

were iR 1 foie form g a?

(a) g% Frates-mew I forw e
Fie & forg weam gifim

(b) % o off fF TEQ wad T
ot fergofl 1 3w v

(c) 7 mErew i f A ™R
TS FL e

(d) w T @ RS T

58. TEWI TG & gW % fow faftwm www

gee m §1 Hie Ry mosred wofEw
Hifm i 30t A ghoran w0 H 3w
Hifer

fo) SRR WHfoH % § qE AW H
A gt Wi

b) w& # TEEar fit g | A gedt
L

fc) ¥ % FRW fEy % url o uiEds
331 o s gam

(d) T I AT FFSH HHHA FI
T e

59. TRFG ATHW AT & W&

Prrfifaa & & 2 87
(a) Tt
(b) e
(c) wieRTE

(d) ST
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60. Ffrafafeae BowEt & 4 sv-w @

AEH F TEST F qdad wm 7 wenfia
forn T ?

(o) =R IR TH ReeE
(b) el ger Rren usmw
fc) gEm M firen veRw

(d) STaREn S WM STy

61. T W H =¥FE T U FS FH U

w1 98 3w W €
{a) BSHETH! 394 Gl § g e

(b)zswmamﬁé?ﬁﬁa%ﬁﬁ
T gamd i 2

fc) T w@l § FNY F AME TAGH
1

(d) TEw wIA A @rEs S o wer R
SR GEATa &t
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62. Which one among the following 64. The first major boost to modern

statements about industries in
colonial India is not correct?

fa} The jute industry was almost
entirely owned by Europeans

(b) The cotton textile industry was
almost wholly owned by
Indians

{c) The cotton textile industry was
small in size

{d} The growth of cotton industry
was the result of government
support

63. The establishment of Mughal rule
in India

industry in India happened in the
1860s. It was a direct result of

{a) the demand created in America
because of the Civil War

{b) the demand created in Europe
because of the Civil War in
America

{c) the decline in competition from
the cotton mills of Lancashire
and Manchester

{d) the support of government to
industries in India

65. The significant difference between

1. strengthened urbanization

2. strengthened inter-urban
contact in riparian North India

3. increased India’s sea trade

4. decreased the risk of carrying
long-distance trade

Select the correct answer using the
code given below.

fa} 1,2 and 3

(b) 1 and 2 only

fcj 3 and 4
{d} 1 only

B-BZOE-M-FZH/10A 24

www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in

Mahayana and Hinayana forms of
Buddhism lay in that

fa) Mahayana allowed for the
transference of merit while in
Hinayana, a person would only
help another by example and
advice -

{b) Mahayana believed in the
Bodhisattvas while Hinayana
did not

{c) Hinayana promoted the ideas
of a suffering saviour

(d) Mahayana propounded the
idea of the ‘Arhant’, the
‘worthy’
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62. Frfeifan #odit & @ sh-w1
fufafis wwa & e % AR 4 @@
T 27

(@) T IAm T wwpla: qdE %
=il o o

(b) Teh-I8 Iem S weguia: W
ER= iR

(c) Ht-T@ I T | B o

(d) g s R 9fe wEdh ggEm @
i o

63, WA ¥ TR ITE Y T }
1. TR At fen

2. d2adl I9 A | H=R-THE gEah
! Heteg fom

3. WA % WHE ST i agwl

4., = g % AN F SARGH H FAH
Caif

f= Ru w g =1 W W Fd W
R

(@ 1,233
(b} a1 3?2
(c) 334

(d) Fa@ 1
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64. G § My T A wwelt aw v

TRE0 1860 % I H FE Tz TepweR
Teey i ot

(a) TE IB % HWO IALH A AT Ie0A
&

(b) JFOH *F g T§ & HEU JUY R
A I g8

(c) wwmEmR 3R Ak it et
1 et & gR gam

(d) ¥a A I wE wgEn e

65. dighd & TEAH 3N TFE W & w9

" g R Fefafen @ | fred flm
37

(a) TEEE ® qUE HT FEWEW B FHAl
o wEfFE dEEA B ®E =fE g
=ItE 1 AT IE R TR A R
TR HLAl '

(b} WEEE st ® g Far @
Fafs gA T8l wtar o1

fcj TR I SEAT 9EET F OYEHE R
wafda fem

(d) TERER A ‘9Ea’, Tw, & ¥oh &
afaafea fEn
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66. The ancient trade route, popularly
called the

Dakshinapatha,

connected

{a)
(b}
c)

Ajanta with Golconda
Ellora with Muziris

Ajanta with Arikamedu

(d) Ajanta with Pataliputra

67. The Salt Satyagraha

(@)

(b}

fc)

(d)

encouraged Indians to manu-
facture salt

showed to the government that
Indians would break unfair
laws

proved that Mahatma Gandhi
was a mass leader

was designed to destroy the
finances of the  colonial
government

68. The Khilafat Movement was built

around

(@} opposing British rule in India

(b) protecting the sovereignty of
the Khalifa

{c) opposing the national
movement

(d) protesting against lack of
educational opportunities in

India

B-BZOE-M-FZH/10A
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69. Mahatma Gandhi’s severe criticism
of the Congress leadership at the
opening of the Benaras Hindu
University was focused on

{a)

(b}

{c)

(@)

the Congress strategy for
opposing the government

the Congress accepting offices
under the government

condemnation of Indian
nationalism for being an elite

phenomenon

All of the abgve

70. Akbar’s Ibadat Khana was the place
where

(a)
(b)

(c)

()

71. The

military strategy was decided

inter-faith debates and discus-
sions were held

Akbar preached his principles
of Sulh-i-kul

fine arts were practised

Buddhist Sangha was an

organization of monks

fa)
(b
(c]

(d)

www.nationaldefenceinstitute.in

who became teachers of
Dhamma
that helped the spread of

education

to help the integration of the
State

to provide relief to the poor in
times of distress
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66. ‘zRum’ ¥ &1 # gEAW WA FANR Anl 69. sy fag fauframem & gy & IEw

STt =N W HETeHT Ml R HE AP i
see Frefafaa d 8 s w FEa

(o) ST F MAFUS A f?

(b) T F ghiiE | (a) G H, WA F flg H wH
i L={ETe

(c) S H AfEHg A (b) :lmﬁ?laﬂm%mﬂ?qa

@ " a () e @ = Al @ F R
e Tare i

67. "Hsh Hdle (d) Wﬂiﬁ

@ 3 W W oTmw s % e

sreenfea foram 70, HT F FAGAEM] 9€ TIF AT, Tl
m) Y wer # fa R B o (o) &= oty Bfim & s o
R @S () fofim wdl % ww SR-fER w@
y o
() 3w a fen f wEem T @ =i e
- (c) FT FAB-U-FA & gt Hl
Ta= a1 o
(d} 3fuiiafies e@r H fra T R
o

8. Raamwa oo s amg-a/ gen? ‘
° ¢ 71, v G HSARE! T T TS o

() @ o fafesr wmem w6 i won P S

(b} R A P HEAS N (b) T fran % W@ A weg H

(c) TEw =i @1y Fe (c) T uH & W FE G
([dj o # ahE oewd K =l & (@ Tauftw ¥ wma "t @ U WEH
wha oy wehe e ERe il
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72. Match List-I with List-II and select Select the correct answer using the
the correct answer using the code code given below.
given below the Lists :

List-I List-IT (a) 1,2 and 4
(Festival) (Occasion)
() 1,3 and 4

A. Vallamkali 1. Temple festival

Pooram festival 2. Boat race fc) 2 and 4 only

C. Chapchar Kut 3. The marriage

of Lord Krishna (d) 1 and 3 only
and Rukmini

D. Madhavrai fair 4. Spring festival

74. Ritual kinship was the hallmark
Code : of Vijayanagar rule. Vijayanagar
rulers claimed to have ruled on
behalf of which one among the

foj A° B C D following shrines?

3 1 4 2

2 1 4 3

(b} Tirupati

(c) A B c D

2 4 1 3 (¢) Virupaksha
(d) A B C D

3 4 1 2 (d) Mallikarjuna

73. The direct correlation among caste,

poverty and social status implied 75. Separate electorates for represen-
that tation of Indian Christians and

L . . Anglo-Indians were created under
1. with improvement in economic the

status, one could claim higher

social status

. . i C ils A 1
caste hierarchy was immutable fa) Indian Councils Act, 186
lower castes were the only ones
to be pushed into menial
labour

(b} Government of India Act, 1909

4. with improvement in social {c) Government of India Act, 1919

status, one could claim higher
caste status (d} Government of India Act, 1935
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72. gft-1 ;1 gE-0 & gafa fif ik

qfmt & A9 Ry ™ g2 F o = ad
Wﬂﬁ"{:
Tft-1 qit-11
(wdtEw) (srerert)
A. TgATEl 1. W = e
B. Y ign 2. A dg
C. 999R $T 3. WM S IR
farft =1 faamg
D. HMuE Bal 4. SE-deed
H
@@ A B C D
3 1 4 2
) A B C D
2 1 4 3
) A B C D
2 4 1 3
(@ A B C D
3 4 1 2

73

. wifa, fdaar v amhe Rl & w1

Ty HgEY § 98 A-aiiiga &

1. s Ry d s @9 % wma =8
fes 3= gl fRfe =1 g =
Al ol

2. wifd G9A sfEe o

3. %ad freae snfat & ot W
&t B e A off

4. utes ffY & 3f 89 F W
F§ =afw =@ e f oy =
BT L TRl o
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i1 R g = W@ W RS IR
g

fa) 1,23M4
o) 1,33R4
(c] a2 3R 4

([d) Faa 133

74, AEEEASR TR RemAR weE @

wm-fg 9 fsgar st 3
favfaad e e ww T R am ©
TS A &1 2 frman ean?

(@) Tz

(b) feeafa

(¢ Terems

(d) WigEA

75, frafafias 4 @ e sfufmm & o

IR SArEgt AWl HATA-WRdEl %
wfafiftes % fou gug faies-mea
FATT MUY

fa) 3T FEfEew TR, 1861

fb) sa weER AffEm, 1909

fc) wa w@R sfufa, 1919

(d) W sER AifTam, 1935
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76. The Chipko Movement

1. was an environmentat
movement to prevent cutting
down of trees

2. raised the question of ecological
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Select the correct answer using the
code given below,

{a] 1 and 2 only

and economic exploitation (b) 1,2 and 3
3. is a movement against

alcoholism as its broadened {c) 2 only

agenda

4. demanded that local commu-
nities should have control over
their natural resources

Select the correct answer using the
code given below,

fa) 1 and 2 only
fb) 2 and 3 only
fc) 1, 3 and 4 only

(d) 1,72, 3 and 4

77. The Parliament of India may form a

new State by separation of territory
from any State or by unifying any
territory to a part of any State.
Which of the following procedures
is/are true in this regard?

1. By a simple majority and by
the ordinary legislative process

2.  On the recommendation of the
President, who usually has to
refer the bill to the legislature
of the State(s} which is/are
going to be affected by the
changes proposed in the bill

3. On the advice of the Prime

Minister to the President

fd] 1 and 3 only

78. A bill introduced in the Parliament,

in order to become an Act, has to
have which of the following
procedures to be followed?

1. It is to be passed by both the
Houses of the Parliament.

2. The President has to give
his/her assent,

3. The Prime Minister has to sign
it after the ratification by the
Parliament.

4. The Supreme Court has to
approve and declare it to be
within the jurisdiction of the
Parliament.

~ Select the correct answer using the

code given below,

fa} 1 and 2 only
fb) 1, 2 and 3 only
fe) 1,2, 3 and 4

{d) 3 and 4 only
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76. o sm=iem

1. 34t werg I oY T waieviE
H=EE o

2. I aitferfes 3 sufde wiww =
T 33T

3. woft fogm wreigsh & w0 #
TeEIgdl % fawe sneie §

4, 3 9g " @ 6 oyl wgeet =
I AT HETERT W R @
gy

@i R g w1 W@ W= W
gl

fa) @*Haa 1 3R 2
(b} a2 3N 3
{c) Faw 1, 334

d) 1,2, 334

77. 9@ @t gug ot osg § @ I tam
I e e et gewem = fe
T & 9 ¥ oy fems qu own W
fmfn o wf| 39 9 A fafafea &
¥ HA-d ugha/ogfoal ad 8/87

1. §raro sgad 3R e
BIEDIEGY

2. vgufd 6t SIPEE ¥, T HWAR W
it w W/ T/ &
oy # e ¥, o fatuw o
vaidg afaddt @ wnfaw @9
el /4T B /R

3. TN W @ T Wt f e @
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T

fa) hasl 1 32
() 1,233
(c) A 2

(d) aw 133

78. WHg ¥ yrEeniva fmdt fadws & afufam

a1 & fom fFafafaa 4 @ T wfsnstt
T AR T ATETTS 87

1. 78 §®S % SF1 Wed1 g0 wiie fen
ST |

2. gt st sgufa yem e

3. W g0 AgEEH ® WH W
FuE S0 W BEIER ST |

4., IFAN AETE IFFERA /E WK
offs ®m & ;| @R AN
Fftrefan & sraria 31

2 Ry T T2 w1 v W T W
gi)

(@) Faw 132
(b) Fad 1, 23 3

) 1,2 334

(d) Fa& 3 AN 4

[P.T.O.

www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in




www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in

79. Which of the following statements : 2.
is/are correct?

1. Offices connected with a
religious or  denominated
institution may be reserved
for members professing the
particular religion to which the
institution relates.

2. The State may reserve any post
or appointment in favour of :
any backward class of citizens 3.
who, in the opinion of the
State, are not adequately
represented in the services
under that State.

www.nationaldefenceinstitute.in

The Directive Principles,
however, require to be
implemented by legislations
and so long as there is no law
carrying out the policy laid
down in a Directive Principle,
neither the State nor an
individual can violate any
existing law or legal rights
under the colour of getting a
Directive.

The Directive Principles are

‘enforceable in the courts and

create justiciable rights in
favour of the individual.

Which of the statements given

3. No citizen shall, on grounds above is/are correct?
of religion, race, caste, sex, {e) 1,2 and 3
descent, place of hirth or any (b) 1 and 3 only
of them, be ineligible for any
office under the State. (¢} 1 and 2 only

(d) 2 only

Select the correct answer using the
code given below.

81. Consider the following statements :

1. It shall be the endeavour of
every State and every local
authority within the State to

fa) 1 and 2 only provide adequate facilities for
instruction in mother tongue at
(b} 2 and 3 only the primary state of education
to children belonging to
fc/ 1,2 and 3 linguistic minority groups.
' 2. The Constitution enjoins the
(d) 3 only Union of India to provide and
promote the spread of Hindi
language and to develop it so
that it may serve as a medium
80. Consider the following statements : of expression of all the
- 1. While the Fundamental Rights elements of the composite
constitute limitations on State culture of India.
action, the Directive Principles Which of the statements given
are in the nature of above is/are correct?
instruments of instruction to ‘(@) 1 only
the government of the day (6) 2 onl
to do certain things and to Y
achieve certain goals by their () Both 1 and 2
actions. {d}) Neither 1 nor 2
B-BZOE-M-FZH/10A 32
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1. & ofifs @1 e w@wam |
R ' W fafie v =, fred ag
WH Y7 3, O 9 weRl %
e omfim & g% 21

2. =g fFdt wg @ fgfe @ aoiert &
ot s ot & oy o, R @
T2 ft @4, 3§ T & q¥A
Jaredl # wquin wiafifte 2,
SIRfE o |wH |

3. @ig amiE ud, ey, sfa, fm,
g, IEIR A1 TR § TR %
IR W T & A frft = %
T s 7

R Ry T g W oW Wl W
i)

(o) Fa@ 1 3R 2
(b) Fad 2 3 3
fc) 1,23m3

(d) Fad 3

80. Fafafgs wuAt w fam fifsw -

1. wats g@ JftER Tow F s
@ el & v 9 29§, e %
TRy 9@ aama gare G H
Foun w4 F M 3 wEl |
FAT T YW FA F I
ITFTT F wEw § g &
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2. #ufy, HfF F FRys a=t = =t
g HHEifaa fe 9 6 rEvasa
Bl 8, ol o o T PRy aw
Ffehm fifi w Fuifke w8
arelt w1 oY rae A R, A @
=g, 7 @ =5 sfe G
fafy womn Rftm wftewd =1, +i3
Ry mew w0 F am w, e
T G 8

3. #fs & frew o@ =ume A
gty & 3t =fw & 9w § =
wfrwrt = Tl e E)

I FUA § | FE-61/8 1 2/E7
fa) 1,233

(b) FFE 13 3

c) Faa1 i 2

([d} *aa 2

81. Fmafafiga =@ w faum ik

1. v T 3R T F J@ T
Wy witeel W eeEEEE
Tl & dFe w Wen & Wi
WR W APy # i i wEw
ghuet ft s@en #@ =1 wWW
F4|

2. GAUM ¥MRE TH W 98 AW 20 2
fr Tr &= a1 & waw #t =gwen
3 W dQI au IdH R
w2 @i a5 wra ht qEiE Gepid
F ot a= f aAfrsrfe F arew
T T\

I werE | @ F-w/d wd /R

{a) ¥4 1

(b) FAA 2
c) 132 QA
[d) IW1AIR2
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82. Which of the following expenditures
is/are charged on the Consolidated
Fund of India?

www.nationaldefenceinstitute.in

Select the correct answer using the
code given below.

1. The emoluments and faj 1,2 and 3 only
allowances of the President
and the expenditure relating
to his/her office (k) 1,2, 3 and 4
2. The salaries and allowances of
the Chairman and Deputy fe) 1 and 2 only
Chairman of the Council of
States and the Speaker and (d) 3 and 4 only
Deputy Speaker of the House
of the People
3. Debt charges for which the
Government of India is liable 84, A bill is deemed to be a ‘Money Bill’ if
Select the correct answer using the 1t contains only provisions dealing
code given below. with
1. the imposition, alteration or
fa} 1 and 2 only regulation of any tax
() 1,2 and 3 2. the regulation of the borrowing
of money by the government
(¢} 2 and 3 only 3. the custody of the Consolidated
Fund of India or the
(d) 3 only Contingency Fund of India
4, fhe provision for imposition of

83. Which of the following are the
privileges of the House of the People
collectively?

1. The right to publish debates
and proceedings, and the
right to restrain publication
by others

2. The right to exclude others—to
exclude strangers from the
galleries anytime

3. The right to punish members
and outsiders for breach of its
privileges

4. What is said or done within
the walls of the Parliament,
however, can be inquired into
in a court of law

B-BZOE-M-FZH/10A 34
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fines or other penalties, or for
the demand or payment of fees
for licenses or fees for services
rendered

Select the correct answer using the
code given below.

(a)

(b)

c)

(@)

1, 2 and 3 only

1 and 2 only

3 and 4 only

1, 2, 3 and 4
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g2. fafafes & @ FR-w/@ =@ 9@

wfua A & g Sa/ad 2/87
1. Twufd fi IgefRmf o s qen
I6eh 42 ¥ grafid =

2. TG O & wWfa SR Iqawrdd
T Tk BT o ITEAE 3TN Ig
& a7 3 W

3. R 99N R fou wwe e @
g

T fu TR W oWm W oEd W
i)

fa) aE 1MW 2

(b) 1,233

(c) Faw 2 IR 3

fd) Fa@ 3

83. fr=fdfiga & & FR-7 A% a1 F AT
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R g T F & ¥ W IW
R

fa) %A= 1, 2 3K 3
] 1,2 33Ma
fc) FTA 13N 2

(d) Fad 3 3N 4

84, T favgs ‘w1 favas’ wwen smom, ofe

o ¥aa Fefafge favgi @ o=fm
IqTY § :

1. ot mt w1 sftmu, sfEda @
Tt~

2. OER T 49 YR @4 F o

3, wra N afa [ @ i@
fafty &t arfSwan

4, AR @ Fw wiwEl & Aftum
w1 Iyal agIhEl & ferg et hi
a1 i T Fanedt & fom el A A
&1 T I I FH Y4

R o Mg @ oW Wl W
BB

fa) Fae 1, 2 3 3
(b) Faa 1 3R 2
c) Faa 3 AN 4

(dy 1,2, 334
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85. Which of the following statements

regarding the powers of the Speaker
of the House of the People is/are
correct?

1. The Speaker’s conduct in
regulating the procedure of
maintaining order in the House
will not be subject to the
jurisdiction of any court.

2. Besides presiding over his/her
own House, the Speaker
possesses certain powers like
presiding over a joint sitting
of the two Houses of the
Parliament.

3. While a resolution for his/her
removal is under consideration,
the Speaker shall preside but
shall have no right to speak,
-and shall have no right of vote.

Select the correct answer using the
code given below,

fa) 1,2 and 3
(b} 1 and 2 only
{¢) 2 and 3 only
{d) 1 only

86. A person shall be disqualified for

being chosen as, and for being,
a member of either House of the
Parliament if she/he

1. holds any office of profit under
the Government of India or the
Government of any State, other
than an office exempted by the
Parliament by law

2. is of unsound mind and stands
so declared by a competent
court

3. remains absent from all
meetings of the House for a
period of 60 days without the
permission of the House

B-BZOE-M-FZH/10A
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Select the correct answer using the
code given below.

{a) 1 and 2 only
(b) 2 and 3 only
fct 1,2 and 3

{d) 1 and 3 only

87. Consider the following statements

regarding termination of sitting of a
House :

1. Only the House of the People is
subject to dissolution.

2. The powers of dissolution and
prorogation are exercised by
the President on the advice of
the Council of Ministers.

3. The power to adjourn the daily
sittings of the House of the
People and the Council of
States belongs to the Speaker
and the Chairman respectively.

4. The Parliament cannot be
dissolved as it is a permanent
chamber.

Which of the statements given
above are correct?

fa) 1, 2 and 3
(b) 2, 3 and 4
fc 1 and 3 only

(d) 1,2 and 4
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85, W& Wl & gy K wREE H 97 °
fefofye Fot 4 ¥ @F-w/8 o
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EEM

(@) Fad 132

(b) Haer 2 3 3

(c)

1, 2 3T 3

(d) Fac 1 iR 3
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1.

2.
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L R
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og & fogeq T @ g, wifE
qg U Tl weA 7

e et A & A2 W B

{@ 1,233

(b) 2,334

fc}

aﬁﬁl?ﬂ’f'{Sr
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88. Consider the following statements : 90. The following are some of the items

1. A person who is not a member of expenditure of the Central
of either House of the Government in India :
Parliament can be appointed a 1. Interest payments
member of the Council of 2. Major subsidies
Ministers. .
. 3. Pensions
2. Anyone can be appomted_as a 4. Loans and advances
member of the Council of
Ministers for a maximum Which of the above is/are included
period of three years. in non-plan revenue expenditure?
3. A person shall not be less than () 1 only
25 years of age in order to
become a minister. (b) 2 and 3 only
Which of the statements given () 1,2 and3
above is/are correct? {d} 2,3 and 4
{al 1, 2 and 3 91. If we deduct grants for creation of

capital assets from revenue deficit,

{b] 1 only we arrive at the concept of
{¢) 1 and 3 only fa} primary deficit
(d) 2 and 3 only ' {b) net fiscal deficit
- {¢) budgetary deficit
¢ 89. The Central Administrative Tribunal fd) effective revenue deficit
adjudicates disputes with respect to
the recruitment and conditions of 92. Which one among the following items
service of persons appointed has maximum weight in wholesale
1. to public services and pasts in price index in India?
connection with the affairs of (a) Primary article
the Union

(b} Fuel and power

fc) Manufactured product

2.  members of the defence forces

3. officers and servants of the
Supreme Court or of any High (d) Food item
Court in India
93. Which among the following agencies
disbursed maximum credit to
the agricultural sector in India
between 2006-07 and 2011-127

Select the correct answer using the
code given below.

fa) 1 and 2
fa) Cooperative banks
(b) 1 only {b} Regional rural banks
(c) 2 only (c) Commercial banks
(d) 2 and 3 fd} Moneylenders
B-BZOE-M-FZH/10A 38
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fa) 132
(b) FEE 1
(c) Had 2
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(@) FT4 1

(b) Faa 2 3R 3

(¢ 1,23R3

(d 2,334
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{a) WETEE T

(b) Taa TS "

(c) SR T

(d) wrefi TR |Ten

92. WG # 9 dina gawE § i wet

H @ freeer s1ftrram W 87
(a) wufie g

(b) ¥ R T

{c) Tafifia 3w

(d} @
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(@) HEHH T
(b)  &iE adfiv 9
{c) I e
(d} W|EDPR
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94. Consider the following statements :

1. Repo rate is the interest rate at
which RBI lends to commercial
banks for short period.

2. Reverse repo rate is the
¢interest rate which RBI pays
to commercial banks on short-
term deposits.

3. Gap between repo rate and
reverse repo rate has been
declining in India in the recent
past.

Which of the statements given
above is/are not correct?

fa) 1

{b) 2 only
fc} 3 only
(d) 2 and 3

95. The rate of inflation in India is
measured generally in respect of
movement of

{a} consumer price index
{b) wholesale price index

fc) cost of living index for
agricultural labour

{d) money supply

96. Privatization includes

fa) sale of public enterprises to
private sector

{b) disinvestment of public
enterprise equity

(¢} participation of private sector
in management in public
sector enterprises

(d} All of the above

B-BZOE-M-FZH/10A
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97. Which of the following statements
Is correct with respect to the
convertibility of Indian rupee?

{aj It is convertible on capital
account

(b) It is convertible on current
account

{c¢} It 1s convertible both on
current and capital account

{d) None of the above

98. The Government of India refers to
the absolute poverty line in terms of

{a) household savings
{b) household consumption
{c) household investment

{d} household income

99. In the current pricing policy, the
price of diesel in India consists of

fa) Fuel component + Customs
duty + Excise duty + Sales VAT
+ Dealer’s commission

(b} Fuel component + Excise
duty + Sales VAT + Dealer’s
commission

{c) Fuel component + Customs
duty + Sales VAT + Dealer’s
commission

(d} Fuel component + Customs
duty + Excise duty + Dealer’s
commission

100. Which one among the following is
not a Mars rover?

(a) Sojourner
(b} Opportunity
{c) Curiosity

{d) Apollo
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101. Consider the following statements :

1. The Fifth Summit of BRICS
(2013) was held in Durban.

2. Dr. Manmohan Singh became
the only head of States or head
of Government to attend all
BRICS Summits held so far.

3. The theme of Fifth Summit
of BRICS was “BRICS and
Africa : Partnership for Develop-
ment, Integration and Indus-
trialization”.

Which of the statements given

above is/are correct?

fa) 1,2 and 3
(b} 1 and 2 only
{c) 2 and 3 only
(d} 3 only

102. The logo of which of the following

famous organizations is a Giant
Panda?

(a) World Wildlife Fund or World
Wide Fund for Nature (WWF)

(b} International Union for
Conservation of Nature and
Natural Resources (IUCN})

{c) United Nations Educational,
Scientific and Cultural
Organization (UNESCO)

fd) United Nations Environment
Programme (UNEP)

103. Which of the following is the correct

chronological order of TV display
technologies?

{fa) CRT, Plasma, LED
fbj CRT, LED, Plasma
f¢) LED, CRT, Plasma
{d} Plasma, LED, CRT
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- 104, Consider the following statements :

1. Employment growth in India
in the second half of the first
decade of 21st century was
relatively modest.

2. There was lower labour force
participation rate across all
ages during the period.

Which of the statements given
above is/are correct?

{a) 1 only
(b} 2 only
{c) Both 1 and 2

{d} Neither 1 nor 2

105. Which one among the following

sectors in India has the highest
share of employment?

fa} Agriculture and allied activities

(b} Manufacturing
(c) Construction

(d) Tertiary sector

106. The Human Development Report,

2013 {(UNDP} does not focus on

(a) sustaining development
momentum

(b} peace and security

{c) confronting environmental
pressure

{d} managing demographic change
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101. fr=fafiga st o fomm AR .

1. BRICS %1 vueEl et wiigw
(2013) S ¥ g371 |

2. gl waga fig anft o= wow it
BRICS firat amterl § i@ g
IR TEAE TSATEE A1 TTEATSAE
T

3. BRICS & ui9d fmm onfem =
Fg fwa w—"'BRICS 3t
AF - ﬁﬁm, 'Q‘Oﬁ'ﬂTIUT 3T
i & foTu wefterd'

I FUA! 8§ A BE-W/A wd &/
faj 1,23M3

(b) a1 32

c) Fae 233

{d) ¥aa 3

102. siimwm uig, Fmafaflaa afyg et & @
Toraen g 27

(@) Fa z=sis Ry s el ¥g
Rt ffr (wwr)
(b) igE wFEH wE wHE wRA

Y& U9 ([UCN)

() wge W fen, foom w dwf

WA (UNESCO)
(d) €I® Y qaiww FRFHET (UNEP)

103. fofiflgs & @ =@ TV wedf
srenfiferat o wdt o 87

{a) CRT, wiwdl, LED
(b} CRT, LED, =1
{c/ LED, CRT, wTsql
{(d) W, LED, CRT
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104. Fafafgs wut w faem fifve

1. ¥@ § U9 g 214 wadt &
TN TR % IWUE W ST
tiedt oft |

2. T e & W oot ey # am
vt wgwifian & smarga =g ot

IR o § ¥ wE-A/R O B/
(a) FIA 1

(b) +a 2

e} 12 22N

(d) ad1amad2

105. @ & frafaflas sl % @ fem = 8

USPIR 1 J=aH oI &7

(a) T & a5as s
(b) fatmion (Ggdveatin)
(c) Firin ()

(d) Fdaw

106. W faem W, 2013 (UNDP)

FrfeRan 4 @ e w S = &7
(a) Tor®m W W uiE S

(b) i R ean

(¢) TETawi S| F1 G FRAT

(d) SATFHE TiEdt = el s
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107. In order to provide pensions to

workers of the unorganized sector,
which one among the following
schemes has been launched by
the Government?

fa) Swabhiman
(b) Swavalamban
(c) Swadhar

(d) Aadhaar

108. Which one among the following is

the latest nation to join the
World Trade Organization (as on
March 2013)?

{a) North Korea
{b) “China
{c} Russia

(d) Tajikistan

109, The 27th Indira Gandhi Award for

National Integration was conferred
on

(a) Ela Bhatt
(b) Gulzar
() Mohan Dharia
{d)] A. R. Rahman
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111. The following are some important

sources of tax revenue for the
Union Government in India :

1. Corporation tax

2. Customs

3. Union excise duties
4,

Service tax

Arrange the aforesaid sources of
revenue in ascending order as per
the Budget Estimates for 2013-14.

(@) 1-2-3-4
(b) 1-2-4-3
(¢) 2-1-3—4

(d) 4-3-2-1

112. Which of the following statements

about the scheme Roshni’ launched
by the Ministry of Rural Development
in June 2013 is/are correct?

1. The scheme is supposed to
provide training and employ-
ment to youth in the age group
of 10 to 35 years.

2. 50% of the beneficiaries of the
scheme will be women.

3. It is a cent percent Central
Government funded scheme,.

110. Who among the following won
the Men’s Singles All-England
Badminton Championship held in
Birmingham, England in 2013?

Select the correct answer using the
code given below.

(a) Lee Chong Wei faj 1 only

(b) Chen Long (b} 2 only

fc) Chen Jin {¢/ 1 and 2 only
{dj Lin Dan {dj 1, 2 and 3
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107. anfsa &% & A = S YeE w3

¥ fu Prefafee & @ s9-dft =
TR R AT it 137

(a) TEfETH
(b) WEFEET
fe] TETHR

(d} AR -

108. F=ffae & @ FR-w ™ B9 =mr

wer # @i @ awn iR
(W 2013 i foafa) e 27

fa) I @
(b)
c) %%

- (d) TR

109. ¥R wEww % fag 274 = ik

TR 3 | R wem e e an?
(a) N 3E

(b) TSl

(c) e urfen

(d) To 3Re AN

110, 74 ¥ 5w =ffam, e # 2013 #

amifia oy wee wia-dove dsfied
At Sfidht?

(a) < =01
(b) = T
(c) =7 T
(d) T s
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111, wra # ¥ W@ ¥ o = vE & 39

Tyt ik ey €
1. frm-w

2. €M e

3. W9 IR IEH

4. WE-W

2013-14 % a9 WEHH & IIER, I
T Al ® T #e i wgafem
sifsm |

(a) 1~2-3-4
(b) 1-2-4-3
€) 2-1-3-4

(d) 4-3-2-1

112, Fffga 4 4 F-w/A w9w, T

fashm WA g0 99 2013 F waEfd
Vel Qi & a0 B | B/E7

1. WA A 10 @ 35 9 & amg

& Farst w widew @ A9 JEE
A i A F TR

2. 39 QM I 50% TN WHS &l
girft |

3. I8 vE-fdwa ¥ % e R R
fafa-ofim s 21

#9 R M g W oW W OEE IW
gl

{a) A 1
(b) *AA 2
fc) Faa 1 3R 2
{d) 1,233

[P.T.O.

www.nationaldefenceinstitute.in




www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in

113. In February 2013, the International
Court of Arbitration at The Hague
ruled in favour of India’s position
on the diversion of Kishanganga
water setting aside the objections
raised by

faj Pakistan

(b} China

{c¢) Nepal

fd} Bangladesh

114. Consider the following statements
about NEOSSat launched by PSLV
in February 2013 :

1. 1t is the only space telescope
dedicated to searching for
asteroids that might have a
threat to the earth.

2. It was designed and developed
by ISRO.

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 only

(c/ Both 1 and 2

(dj Neither 1 nor 2
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115. The Government of India on 12th

June, 2013 enhanced the limit of
foreign investments in government
securities by 5 billion US dollar. In
this regard, which of the following
statements is not correct?

{a) It was done in order to increase
inflow of overseas capital

{b) It will strengthen the value of
rupee

{cj The foreign institutional
investors registered to SEBI
are only eligible for investment
in the enhanced limit of
5 billion US dollar

{d) The investment can be made in
all categories of investments
across the board

116. The Central Board of Direct Taxes

(CBDT) in June 2013 has specified
a value for the cost inflation index
of 2013-14. In this regard, which of
the statements given below is/are
correct?

1. There has been a rise in the
cost inflation index over the
year 2012-13. ‘

2. The cost inflation index helps
in reducing the inflationary
gains, thereby reducing the
long-term capital gains tax
payout for a taxpayer.

Select the correct answer using the
code given below.

fa) 1 only

(b) 2 only

f¢) Both 1 and 2
{d) Neither 1 nor 2
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113. W@t 2013 ® f& ¥ @@ =il
fommeam A 3 e sw # faem
% fawa 0 ffafas & o e g 3ard
T$ IS i I A g WG F 94
T Fofa Ren?

{fa) TfFEE
(b) <
{c) EL I

(d) e

114. ®@&l 2013 H PpSLv @ e
NEOSSat & =1 # fimfaflas ==
ﬁ’ﬁT(ﬁﬁi’Q:

1. T% CHA Ut errREfig guefa 2, Wi
&% 9ol =1 @ wgEn F weE
W4 9 g Tel o aaw & fau
afda B

2. 98 ISRO g AhwalAa @ fawfua
H T off|

I wEAl § | FE-T/F w@OR/ET
fa) ae 1

(b) A 2

c) 132 =t

[dj 3@ 1dmad2
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115. YR &N 7 12 T4, 2013 A wEd

it # fReht et &t dwm =
5 fafewy Us sfer w71 e g s 4
fr=fofas & 4 Fi9-a1 o ol w8t 27

(a) T v $Sft & =@l @ @R
F forg forn T

(b) TE T F Y B WOGH HON

¢/ SEBI @ vdiga fR¥ft wemm
fRws & 5 fafmm us siern
Fféda @ 4w & g €

(¢) TRm sm= w9 @ FEw A o
Sforgt % faan <1 wewar 2

116. M Yy X 92 (CBDT) A S{ 2013

7 a4 2013-14 & AFE THd gE&® *
foe v 7w fafifde frn R @ oam d AR
foq Tu wert # @ B-w/A wd R/

1. ¥ 2012-13 # @@ whift gEes

- AgfEgE R

2. @ma whif gawes, whifded afw
F FH FA W UEE O § 3ii
g W e * fom dufaty
e ofew = W | w0
FaT B

™ e T gz W @M W A SW
T

(@) Fa 1

(b) IS 2

¢ 13W 2
(d Tdarsinad@2
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117. United Nations General Assembly

www.nationaldefenceinstitute.in www.nationaldefenceinstitute.in

Direction :

declared the year 2013 as

{a) International Year of Water
Cooperation

{b) International Year of Space
Cooperation

fc) International Year of Air
Cooperation

{d) International Year of Science
and Technology Cooperation

118. Which of the following recommen-

dations of J. S. Verma Committee
on crime against women was/were
accepted by the Government by way
of an ordinance?

1. Armed force personnel, who
commit crime against women,
could be tried under ordinary
criminal law

2. There would be restriction
of politicians facing  sexual
offence charges from contesting
elections

Criminalization of marital rape

4. Question regarding moral
character will not be put
to the victim during cross-
examination

Select the correct answer using the
code given below.

{fa} 2, 3 and 4
(b} 2 and 4 only
¢ 1,2 and 3

{d} 4 only

The following seven (7) iterns consist of two
statements, Statement I and Statement 11.
You are to examine these two statements
carefully and select the answers to these
items using the code given below.

Code :

(a)

(b)

(c}

(d)

Both the statements are
individually true and
Statement II is the correct
explanation of Staterment 1

Both the statements. are
individually true but
Statement II is not the correct
explanation of Statement I

Statement I is true but
Statement 1I is false

Statement I is false but
Statement II is true

119, Statement I :

When a piece of brick lying on
grass for a number of days is
removed, the covered part of the
grass appears pale.

Statement II :

Synthesis of chlorophyll, which
gives green pigment, occurs in
presence of sunlight.
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117. g Y weres ¥ ad 2013 & frfefaa
# 4§ frm od & wu 7 oifm R 27

fa) F=iYE <o g 99
(b) 3TAUYY ity wgdm ay
{c) STUYE a1y wEEm o

(d) AUy fagm ol Wit weaim
ad

118, Afgenst & foeg sww A w
Ro THe ami witfy H F=fefled § @
®R-H sgmE/eyed  wER gW
AR AR W it 7 /87
1. v\ 99 &ifds w, S afgened &

foreg. arquy =t €, wm g5 iy
% arefim femor foman s wam

2. T mermet w A sy &

A § s fales @ W
fidem B

| 3. darfes Feerr = g

4. wfoedian & <RA difea @ e 9fm
el e 7 08 S

9 Re M g w1 W@ W oAl Iw
EGLY

fa} 2, 334
(b) AT 2 3N 4
(¢} 1,233
(d) +9d 4
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fdy
frafeifaa ara (7) yiwt # & wuw, wuw 1 e
HYd 11 §| S9H! 37 < w91 H gy | wlan

FAt ¢ ol Tyl F I A Ry gz W
T &G R

%

(@) T FF A @ § 3w 11,
%o 1 ) ot e R

w11, F9 1 F w8 =em T4 2

{c) o 18eg ¢ fohrg FoR 11 39 §

(d FEINEALfFgFmnva

119, ¥ 1 :

&3 A q& W w w1 gen & w1 g
WM 9 AreS1ed 9 ) g dehl wdfa
et R

FA 11 :
tha % WA +@ T wigha =

o, gi-wemm f fomma # da
21
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120. Statement I :

The mirror used in searchlight is
parabolic.

Statement 11 :

All the rays coming from the
source at the focus of a parabolic
mirror are reflected as an intense
parallel beam.

121. Statement I :

Ozone is produced naturally by
the action of ultraviolet radiation
on oxygen molecule (O,) in the
upper atmosphere.

Statement 1II :
Ozone depletion has been caused
by the release of chlorofluoro-

carbons (CFCs) into the
atmosphere,

122. Statement I :

Virgin soils of newly cleared
forests give higher yield of coffee.

Statement 11 :

Coffee is a soil nutrient exhaustive
Crop.
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123. Statement | :

Ashoka called the Third Buddhist
Councii in 252 BC at Patalipuira
and it was there that the Buddhist
Church became divided into two
sects—the Hinayana and the
Mahayana.

Statement 11 :

Kanishka called the Fourth
Buddhist Council at Kundalvana
near Srinagar and Vasumitra was
believed to have acted as
President.

124, Statement [ :

The Jajmani system was one in
which the village artisans supplied
traditionally fixed quantities of
their products to peasant families
in return for shares in the harvest,

Statement II :

The Jajmani system was a system
of the Jotedars {rich farmers) and
the Bargadars (sharecroppers).

125, Statement [ :

For the three years after 2007-08
Annual Budget in India, there was
practically no increase in tax/GDP
ratio.

Statement II :

At the same time, government
expenditure jumped noticeably.
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120, F941:

e H WIH T AT g0 A
Bl )

HYA I .

AR ool % WeE W HG § JAH
gieh wft feet f v feoge &
w9 & wafda g &

121, YA 1

g P T SN g
TUEd § SESH A (0,) W
g et Y foran @ 2 2

Sy 11 ;

IS F FH TS § TR -
F@1 (CFCs) & fufw 97 & =rw gan
2l

122, 9991

-8 e fer e f aea ged
6 ht IR I9 Wt E

HYq Il :

Hh T geT-9h T9F FEA B
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123, &1

s 3 252 BC # digh sg ahify
Trefegs # A i o 3 W g
B WL, daE o mEEm, § fwe
el

wHYF 11 :

sfww 3 =nft dg wifT s % T
Fuewad § amgm # i ¥ R
7 agfim 2 ot steger i ot

124, &Yq]

ey @g oft ol om % WO
FGF UGN ®, FOA B & 99,
I 3Iqrel #H ouonlw wW oA P
At ) gfd e 9

HY4 11 :

TE W Faerd (99e fRaE) o
Ffert (d2rferl) i & v ot

125. Y91

Mm@ # 2007-08 % aifi® w92 &
TR ¥ AF I % o e w9 3
/GDP ¥igaa & =1 gha 74 gd

HYq 11 :

S WY WEl A9 T ¥ | 4
3 T
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SPACE FOR ROUGH WORK
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TR A SUH qg Gt Y Wi w A wY W 9 a6 T @rd

2t <t €. : B-BZOE-M-FZH - ufteror giveeRT srgeen
W W L |
‘249680 'q-&?;'l'UT %

b I ~ quie : 250
FgIA

1. Tfien wTeN B % qOA W8, 3T 36 wheo gt Y g srave a o B gt W R o, @
1 G gIN GE uE GwAe g A g AR yw 3, @ 3@ vt whew yReem & wEw i

2. Fua we w@ B OMR IT-ums #f, SRm wom W, Iw Ty oft whaw gieas sg@w A, B, Con
D ), tam | w6 fret g @ Refa & @ ok e w6 Rt sefieam 6 R) e
ot yam N I/ Rafa Ht R & s e w Rar s

3. T ufigw g W wy # Ry T wigs § AOH [9W
I fergm }1 whsm gfemm ® iR g9 7 Rrdt |

4. 3g wigw g § 125 wwim (3W) R e §) seds wein B ol sisht &4 | B 1 e i #
w T (IW) Ry i A o v A g, @ o sw-ws WS w A ) Al s
T o @ @ ot v wd €, @ u wgw A oifm S v watem @ v Y & f
FEA T B TGR G 2

5. AR T oft wegm Iem A R T set-wen WA ik w9 §) sw-ww 3§ o mg Rdw AR

6. |t W % I |OH 2 .

7. TR e % W oftaw g  RRE T & T T-me W AR @ IS #, T @
TH-95 % § dfd et % ITER T fyam Im-we § oW R

8. o Y wff WAl W I-TAE § WA F M a0 ThE & FHH W HAS IW-UTER NeF B )
e e wiy wlew gfee & 9 oargwfa g

9, F= &M ¥ ¢ v wigw g & 3 o g §)

10. TT&d AU &+ forg gus .

wegfis ww-uet & srfigam g Re me wem wwt & faig gve R s

(i) TP W¥T & R 9w Awichw s 3| Ielika g e IR 3 forg R T ww e W F fer v R
frga farg o et @ Tws-TAETE e & w9 § SR S

(ii) aft Fr Tefiear ww A 2 o0 3@ &, @ 2@ Tom Iw A e, el e e I # @ W
B &, B oft 39y ¥ R swfegan @ @ we w s R smem

(ii) R InfEar g0 = W T T e s &, rofq swfiean g0 s A Ren S &, @ 30 ww @ ki
®i¢ que T8 e s

W AF A ag vy gieew Siem W T wE W a9 @6 1 G

Note : English version of the instructions is printed on the front cover of this Booklet.
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